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() 103X22
= (100+3)%x22

= 100X22+3X22

= 2200+66
= 2266

2) 97X6

= (100—3)X%X6
= |0O0X6—3X%X6
600—18

= 582

3 108x8

= (100+8)x8
= 100X8+8X%8
= 800+64

= 864

4) 98X5H

= (100—-2)X5
= |00X5—2X%X5
= 500—10

= 490

5) 109X

= (100+9) X7
= |Q0OX74+9X7
= 700+63

= 763
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6) 107X9

= (100+7)x9
= |00X9+7X9
= 900+63
=963

(7) 96X'7

= (100—4) X7
= |O0OXT7—4X"7
= 700—-28
=672

8) 99X5

= (100—1)X5
= |00X5—1X5
= 500—5

= 495

(@) 98X8

= (100—-2)X8
= |O0X8—2X8
= 800—16

= 7184

(10) 102%X23
= (100+2)X23

= 100X23+2X23

2300+46
= 2346
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